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Geometry Area and Volume Formula Sheet

Area of a Rectangle/Square
Area of a Triangle

Area of a Parallelogram

Area of a Trapezoid

Area of a Rhombus or Kite

Area of an Equilateral Triangle

Area of a Regular Polygon
Area of a Circle
Circumference of a Circle
Surface Area of Prisms:
Surface Area of Cylinders:

Volume of a Prism/Cylinder

Surface Area/Volume of Pyramid

Arc Length of a Circle

Sector Area of a Circle

Surface Area/Volume of a Sphere

A= lw A=s?
A = 3bh
A = bh
A= Sh(by+by)
A= Sdd,
X

4
A = %asn
A=mr?
C=nd=2nr
SA = 2B + ph

SA = 2nr® + 2mrh
V = Bh

1 1

A=zB+ Pl V= - Bh
Raskeg 3

 Arc Length = (arc angle/360)2nr

Sector Area = (arc angle/360)mr?

SA=47xr? =§7tr‘7‘
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Geometry 3242
Units and Area Calculations

Name: Date: Period:

L How many square inches are in one square foot? Include a sketch of
a square foot below.

2. How many square feet are in one square yard?

3. How many square inches are in one square yard?

4, How many square inches are in 16 square feet?

. How many square feet are in 64 square yards?

6. How many square inches are in 22 square yards?

7, Find out how many square feet are in a square that has a diagonal

that is 16 yards long. Include a sketch.

8. Find out how many square inches are in a rectangle that has a length
of 36 feet and a diagonal of 39 feet. Include a sketch.



Geometry 3242

Sections 11.1 and 11.2
Areas of Basic Geometric Shapes

Name: Date: Period:

Werite down the area equations of the following figures:

1d 4
a) Rhombus PP “lon T

L Lt
b)  Trapezoid A= B '
c) Parallelogram A= bl

Find the area of the following two triangles:

- L}
A=1bh
10m 13m L “—lz’,(““xc})
9m
«—— 16m —— e T2
8m 3m A = J{ bh
] ”
6 2z —(8B)(&
14m m A= zOG )
A= T8m

Find the height of a rectangle that has an area of 240 in® and a
length of 18 inches. A = Au

2= (Bl

2 <
fh: i_)f—?fi\

Find the length of the side of a square that has an area of 169 ft2.

Then find the length of the diagonal in simplified radical form.

=
.?\j'l
/ ~ s=__ B pr d=_18 45
e 28
< =13 A:\ers’a—],? = 18. %



5.  Find the area of "r'hz‘following parallelogram. Keep in simplified

radical form.
42m
24m
128*
/J"?bhz("}‘2)</2m Az Sod g

6.  Find the length of the base of a triangle that has an area of 168 ft2
and a height of 14 ft.

A= bh /B =26
/c’;széi(f-ﬂb\_/ ENA b=,__Efie

7. Find the area of the following rhombus.

X:\Y‘T;I-—-;S—L =6
/3‘- = -:—: c&-‘c(x ‘«’—"if_(i“—‘b(izs

~

A - (:i@u.‘-'ﬁ.

8.  What is the length of the long diagonal of a kite that has an area of

1 468 mm? and a short diagonal that is 26 mm long.
A ==

= Y= 13d.
yeg = C’Q(c\b D /Tz? Long diagonal = _ F<=mn
9. Find the area of the kite depicted below:

ne= t—BL._ \7_.\ = 5
13ft

A= Lo




10.  Find the area of fh?following@apezoid.
28 B e I

& 1 (1| \13in
H
5 e&e—— 18 ——> 5in
B = Jf ("Z)Q‘? € +25) Az_3G9

11, Find the length of a base of a trapezoid that has an area of 200 in®
with a height of 8 inches and a base measuring 28 inches.

A=2Lth (\vl‘a— bo
26 = J{‘C@) (b +28 ===

P ‘—}-C b, 4 10

b - ’Z—-ILJI"\

12.  Find the height of a parallelogram that has an area of 280 cm? and
abaseof 20cm. A = b h
2580 2 2o b

\’_._—?_'L{. h: IL\'C{v‘J

13.  Find the length of both bases and the height of a trapezoid that has .
an area of 324 in? with the long base being 3 times the length of the
shorter base and the height being twice the length of the shorter

base (include a sketch below). _ ] b,z 9
A= 2bCh+ b B
_??_‘-t — _—l_-L-C-?—x)CL}"!‘; h2 IBid

z 3724 =2 YK

) aizw (k=
E— R3

14,  Find the length of the diagonal of a rectangle that has an area of
364 m? and a height of 14m (provide a sketch).

/j\":)?\_v L
d (11 Feq = 144 Diagonal = _ 25 - >
\\.\ 5 )2 =26
\ o A . s
. il A_‘QML 2 = Ay =

&



Geometry 3242
Basic Area Problems

Find the area of each of the figures depicted below.

1.
A = %.CB’)(@’\ A= J?:(\QCC%
10 12
; 9 11 =
3 16 .
‘ /b( = 71—\5'41-;:/\ L
2.  Trapezoid
| , 12 ,
A=1@C4r b= o
14 g
\\
\l ]
6 18
( A =z 144 \!.\Jrﬂ
3.
|
[
G
8$T 6
4
2 S C
A = UB)(e\DD P
Az oal vt ALEED



4. Kite

A
|
10 (7
=
J

5. Rhombus

CA Z 12e —()




Geometry 3242
Chapter 8 Area Problems

Name: Date: Period:

Find the area for each of the following figures. For each problem,
write down the equation, show work and include proper units.

P\ ET T

1.
16 —> L v
i g m‘z_\z_ A=z |12&
2. . .
A = TG
20 A= 4a
8 10
12 T

A= ‘-i‘a LETRN T

3. A triangle has an area of 176 m? with a base of 16 m. Find its height.
A :’-v:%;:b\'w = 151.=8R

diok hzztv b=, S C I

4. A triangle has an area of 216 in®and its base is 3 times as long as its
height. Find the triangle's base and height (provide a sketch also).
A =L bl

: = | Z
216 = LA h .
2.]6:;-‘1‘!,:3)“1_ b= B

§32= e S
"~

— Iq,u. = Ha bﬁ:‘;\;

E—F% >




5. Find the area of Tﬁ?parallelogram depicted below:

18 in A= bh
A=00D

= (2 \_;hzl‘lm

13 in/——

S—
S~

———— 5in
"\Z— \‘i IEL"S =g e A= A?-‘—Z-IQD[N‘

6. Find the area of the rhombus depicted below.
A = d"!i- A] C:l s

o= %—_Cﬂ.)(l ©)
A= A&

10

A= C':'IG:»-..;:-.‘;;;;

7.  Find the length of the short diagonal of a rhombus that has an area of
192 ft2 and a long diagonal of 24 feet.

A=Ld 4,
o i
19z = L G4,
|92 = 12de = duz G

Diagonal = _ &

8. Find the height of a trapezoid that has an area of 345 cm®and two
bases that measure 18 cm and 28 cm. Include a sketch.

A =L h@Eb b he_ 1S




9. Find the area of the following kite.

\s It -8" =\3.9
A = (29

/)r - Yso 3

A= ‘f'f-D'OaB’um/Pl

10.  The following trapezoid has an area of 357 m®. Find the length of its
top base. ’ A = 1 \w(b 3k
i
257 = (i@@‘“*l’s
» 357 27 (37 D
m
51 = b ¥3&
| 1 b, = \5
36m
b, h=__15m

@ A trapezoid has an area of 1715 ft?. Base 1is 7 the length of Base
2. The height is 1/3 the length of Base 1. Find the length of all
three dimensions of this trapezoid. Include a sketch below.

iy <

Bi= -1




GEOMETRY
Area Word Problems

Name: Date:

For each of the following problems, draw a figure based on the description,
show all formulas and calculations and fill in your answer in the blank space

provided.

1. A trapezoid has an area of 75 square inches and its two bases are 8
and 17 inches long. Find the height of the trapezoid.

Ac = “‘%l’)(b‘%—\)b

Sig o Ly ( 26)
Z

15 =12.5h  (h=en)

2.) A rhombus has an angle measure of 120 degrees, and its longer
diagonal has a length of 10 inches Find the area of the rhombus.

5

h= Con—a

Sz
- =
52 .
Area= 3 = 289
3, Find the area of an equilateral triangle whose penmeter 1s 60
centimeters. B = %, J_ 2o \r' Yoo B
e 5 = = T e




R~

4. A trapezoid has an area of 126 square feet, a height of 9 feet, and one
base of 13 feet. Find the length of the second base.

j2e= L(DH(br 12

952 = g (b, +13)
28 = l?, A 13

@ Base=___li(:1‘.
( 2

A rhombus has side lengths of 12 inches each and an angle measure
of 120 degrees. Find the area of the thombus.

L= A =244,
/3 = 72(Z

Area= 1232 (o

6.  Ifthe area of a rectangle is 396 square inches and its height is 18
inches, what is the perimeter and the area of another rectangle whose
height and base are triple the length of this rectangle?

0, A

A =39 |18 ?;
54 . 54
_ 39C¢ C |
W = = i = Perimeter = _ 24Ox
L)

Area= 35 €4 1a

@



Geometry 3242 b
WS on Areas of Figures

Name: Date:

1) Find the area of a trapezoid that has a height of 12 feet and two
bases that measure 16 feet and 24 feet.

A= 209

Area= Z4Hoec

2)  Find the length of the missing base of a trapezoid if its area is
480 m? and its height is 16 meters and one of its bases is 20 meters.

A = 11

& ’-_hCL o bb Base=__ H4OCm
4gs = L QQ(\:, ¥ 20) ? eo =2 b, 1o

Yyeo = BCb *”—‘—5‘/ i

3)  Find the area of the followi@:’rmpezoid. Give the answer in

. - _,——O_I/ .
both radical form and in exact decimal form to one decimal place.

401t

307t \"‘\ !‘\2'5\\6{
o

N

60 il
E—|5 = «— Yo —= = |5 g5\@B' g
| o e | Areq = ZEE=b-{Z=ry"
A = L o (o +ud =e e

A— - (.5 (@(IIQ Areq = _d=s=sfr—
A= e25(F = 1429

@



4)  If the area of arhombus is 640 in%and one of its diagonals is 24
inches find the length of the other diagonal.

A=Ldd
SHa = -j:?'_ C‘L{h CLL

5) / Find the perimeter and the area of the following equilateral triangle.
Keep your answers in radical form.

|

A=+ bh
2 (131G

o

A= 1a13

Perimeter = _ 4&E\F m

Areaz - 191 {2 M

@ Calculate the perimeter and the area of the following kite. Keep your
' answer in radical form,
A=2dd,

4R @@@m&m@

A = (@M + 1D

788 + 1y4\iz
A = LBE 12232

Perimeter = _ 48 4+ Y&J*

Area= 288 {+ 1838 _\‘F':E

o How many square feet are in 10 square yards?

@
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Geometry 3244
Additional Area Problems

1)  Find the perimeter and the area of the following rhombus:

Vi=4

A=2Ld 4
A= 35(/15(/‘4-3

Pz_YCoumA=z_Feom"

2)  Find the perimeter and area of the following square that has a
diagonal length of 12 feet.

3)  Find the length of the bottom base of the following trapezoid.
14in A=z2b(b +bB)

T

UYe A = 4%:(\-73( b 1)

34in 256 = Il (b+14)

26in 22in
Area = 440 Bo=|u+b,. b=
| ] .
b= 6(::(!4

@



